
■ 次の に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

① ( － 1) × 6 ＝ 12

② 14 ÷ ( ＋ 3) ＝ 2

③ 15 ÷ (7 － ) ＝ 3

④ ＋ (7 － 6) ＝ 6

⑤ 20 － － 6 ＝ 8

⑥ 45 ÷ 5 × ＝ 72

⑦ 11 － (3 － ) ＝ 9

⑧ 6 × (3 － ) ＝ 12

⑨ 36 ÷ ＋ 4 ＝ 13

⑩ 79 － 10 ÷ ＝ 74

⑪ 3 ＋ × 5 ＝ 23

⑫ 13 － (6 ＋ ) ＝ 6

⑬ × (27 ÷ 9) ＝ 24

⑭ (2 ＋ 4) ÷ ＝ 2

⑮ 56 ÷ 7 － ＝ 3

⑯ 8 ＋ － 5 ＝ 4

⑰ × (7 ＋ 7) ＝ 98

⑱ 6 × － 5 ＝ 37

⑲ 42 － 8 × ＝ 10

⑳ × 8 ＋ 5 ＝ 61

㉑ 1 ＋ 9 ÷ ＝ 2

㉒ ( ＋ 2) × 6 ＝ 48

㉓ (95 － 47) ÷ ＝ 6

㉔ 3 － ＋ 1 ＝ 3
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■ 次の に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

① ( － 1) × 6 ＝ 123

② 14 ÷ ( ＋ 3) ＝ 24

③ 15 ÷ (7 － ) ＝ 32

④ ＋ (7 － 6) ＝ 65

⑤ 20 － － 6 ＝ 86

⑥ 45 ÷ 5 × ＝ 728

⑦ 11 － (3 － ) ＝ 91

⑧ 6 × (3 － ) ＝ 121

⑨ 36 ÷ ＋ 4 ＝ 134

⑩ 79 － 10 ÷ ＝ 742

⑪ 3 ＋ × 5 ＝ 234

⑫ 13 － (6 ＋ ) ＝ 61

⑬ × (27 ÷ 9) ＝ 248

⑭ (2 ＋ 4) ÷ ＝ 23

⑮ 56 ÷ 7 － ＝ 35

⑯ 8 ＋ － 5 ＝ 41

⑰ × (7 ＋ 7) ＝ 987

⑱ 6 × － 5 ＝ 377

⑲ 42 － 8 × ＝ 104

⑳ × 8 ＋ 5 ＝ 617

㉑ 1 ＋ 9 ÷ ＝ 29

㉒ ( ＋ 2) × 6 ＝ 486

㉓ (95 － 47) ÷ ＝ 68

㉔ 3 － ＋ 1 ＝ 31
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